RESHRASE

THER A%

HWastEHE

XBYMTFLILE—DFEIZODVLVTRTFIvrEL TN

% O XEFITFovIEhi=ARRBITEY 7 UL —KER IDREESEOLE:

XEVTZLLX—DOFHESA

BYREE - ILELIZDONT

XEBHOETEIZ AFBORBEISHKAT. L-H- M- AFABZBRGCHBDEFETAEETT,
TNUBOF v EILIZDONWTIE,. BER. BMELLICE2EEHL TV EEET,
NARELEENHDIEESIEZAFTBD2ERMEIETCITEREZHELLET,

1.BE S5&E
A =] A H A B
=elke ) W
2 3 A & A & A
INEE LT
B A B A & &
AL B
g & A & 5 & M
INEELT
g A B ! B i
AL B
é 3 A & M & A
INEE LT
g A B ! B i
IN—A_Fa—BEM
A—KI
BOFEH = A B
‘RE
A A A
KEHFRAZ (1 A5 1 E10F) |3 J=S 5 & J=S 5 £ J=3 %
(500mIZK fZ 14 53)
XIOAD B E150A R ETEXT | A5 Al A5 AR A A% Al A& Al A% =P Al A% Al A5 M
i = M M
2. B8 SiEE
A =] A =] A =]
350ml
FE—L & M * M & M
500ml & M PN A x |
JUT7ILa—ILE—IL x = & = P =
i858 (350ml) * M * = * M
A GBS * " & M X M
ﬁ‘f/\'f(350m|) P M ES M S o]
74> (360mN) * A % M * A
wEME | B " o x 5 " -
N kED kEID TkEID
Bt B =
GRANE B A S EID * m| oHEn * m|oBEn * A
ELoMEA || DkED vk #ID vk #ID
SYr-1A) ¥+
TLFZELY O%ED 7 m| OHEID X M| T&EID & H
RAR—YRYY &
A A A
it = M M

Z‘E tA IE

(BT LLFX—FITOVTIERHRT 7LV X —E KB E IS ME R AL TKHZEWY)




